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- Part A

General Mental Ahihty, Admimaw and
: Psychological Abilities

H'SOBX"SOGBXSOOBSaAandthesumofall

the digits in the A is M, what will be the value |

of VM ?
(1) 8
2 12
3
@

4

(Directions for questions 2 - 3)

There are two series given below, ofw]m:hmxs
complete and follows a certain pattern. Basﬁ on the
pattern of the complete series, find the an
term in the other series with missing terms marked
by alphabets.

2. Which numherwﬂlcomemphceofl)mthe
following ?
4 25 169 1009 5_041 20161
6 & e € D i@
() 7827
(2) 8394
® S )
(4 8514
3. thx:hnumbm'mllwmemplwauff}mthe

following ?
4 75 2125 77-875 354:9375 1957-65625
8 A-B . € D E

W uses '
@ 21145
®) 22825

1(2 - 3 (54 08 ArrSnSev)

S (Bods Boch Nogrs (Fewen AS DGO,
DS 288 o0 HOCK DGH SHTT
ONHI00SDBod. 8 Sogrs (S HED Ty
SHrRr  errdorr,  SEsree :
SDIFoWS HTOS 2SS & o8 |
Dy mn*.soa 4

80 T8S' DF0s” Sty doRs & ?
4 25 189 1009 5041 20161
ik B Gl E
(1 17827 Sl

(2) 8394

(8) 8401

2'

G

14

808 8BS’ E rs0e® Schy) domg D8 ?
4 75 2125 77-875 3549375 1957*_65625
5 A B C D E
(1) 21842 :
@ 21145
(3) 22825

(4) 24194

(4) 24194
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4.

Amit has to travel distances of 66 km, 88 km |4.

andllﬁkmonthreemmhvadaya He

travels with the greatest possible constant
speed(mhnfhr}onallthethmedayssct.hat

hemersﬁwrespeehve&mtmman

integer number of hours on each day. How
many hours will 1tt,akeh1mtocomp‘mtethe
journey ?-

(1) 8 hours

(2) 12 hours

(3) 22hours
(4) 24 hours

¥  pKq meansp+q

plgmeansp—-q
pMq means p X gq
pNgmeans p +q
which of the following equation is incorrect ?

(1) S5KSLAMEN2=-4

@ (BM7)M(7TKB)LEN3)N(EL2) = 670
(3) BK6L3M4NS8=95

(40 30N10K4M2L2 =15

A pipe ‘N’ can fill a tank in U4 hour and|
our. Both|
mpesmopenedtoﬁutheemptyunk,lmt.

another pipe ‘M’ can fill it in 16

after 1/15 hour a leak developed in the tank.
-mmmmmwm&nmkmm
1/12 hour If the both pipes were opened at
9pm,thenatwhattimewillthetm:kbe
emptied ?

(1) 9:20pm

(2) 9:30pm
(3) 9:25pm
(4) 9:40pm

186)

©WS SEHM Stk Eeren 66 8, 88 8
$006050 110 82 Sr80 HATBOTO. @SS
St Fros FEIDS0S dB0ES PES

B0 EHKoS)) DTSR, FF08 dows

fotes HRFa~ HoodS ErTOD
oS IoHotrd. (HATTI)  FC
BoHEdE S ) Kode JHCHo
DO ?

1) 8itoden

(2) 12hodexn

(3) 22io&en
(4) 24 5o&en

qu&O'é) p+q

plq ®@o® p-q

pMgeso® pxq

pNg ©o®pq oS

& (808 SIS’ DO S5

(1) 5K3L4M6BN2 = - 4

@ (BMDMTK5L6N3)NBL2) = 670
(3) BKBLSMANS =95

(4) SON10K4M212 =15

N o DY o8 erobd s Koo
SosHot DA HOE DH M, V6

HoerS Dosio. g7 ergosad DoNTS

Bodk IHen BSSwFow, woNd 15

oo Sor s ersofS’ a¥  Sogsw
983808, $300 © Bol80 SrSDH 112

Kot I8 érsoss gr® FWod. oS 9
Kobred Both DJen BOR, o HHOLOS'
e 508 379 ©95808 ?

(1) 9:20 pm

(2) 9:30 pm
3) 9:25pm
(4) 9:40 pm
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* 7.

8.

90

Rajani has a digital watch that shows time in

a 24-hour format. The time on the watch|

shows 23:45. After passing ‘A’ minutes the

watch show,s J:he !:lmg in such a way that the |

four whole numbers are again arrnnged in
ascending order from left to right. Then what
will be the value of A x A ?

(1) 7569
(2) 8464
(3) 6724

(4) 9604

If E*F meansE is the son of F°

E + F means ‘E is the father of I

E > F means ‘E is the daughter of F*
_ E < F means ‘E is the wife of
which of the following pair of people
represents first cousins with regard to the

relation given in the expressions, if it is
provided that H is the sister of P ?

Q>R<P+8 and M*H<I+J<K+1L

(2) MS

3 ML
@) MK

In a hostel room, five people P, Q, R, § and T
read a novel. The one who reads the novel first
gives it to R. The one who reads the novel last
has taken it from P. T is not the first or the
last to read the novel. There are two readers
between Q and P. Identify those two readers
between Q and Pin t.he same order.

1) RandS

I (2) RandT I

{3) Tand S
{4d) SandT

(6)

5230 SUE 28 ABLS oS 408 ©8
24 fobye 075’ HHATD) LSO,
FSS BHI®  dHokHo 2845 ST, A
AUTOD S So°3es 29 rentd Jd
Sopgen  IBH  No& B8 efired’
OB WAS DSOS JBHOTDY
Wryeod, oand AxA Qs oS
@308 ?
(1) 7569
(2) 8464
(3) 6724

(4) 9604
L vemm——"

E*F & ‘E 0% F SBu) Ss5rsdy’
E+F &dr E @0 F 38308 oy

E>F o3 E 0t F By HHSr8

E <F &dm ‘E ©0o® F B 218y eons
H O P Og; S0 H048R, & 8o

3585800 aSw8S  Somoods
QoVOGOD (808 SiHes® T 5%
CrOSreden (first cousins) @HE°Ed ?
Q>R<P+8S Hdakm M*H%I+J<K+L
(1) :

3) ML S

(4) MK

28 396 KOS, Db Sgien ;
2O T 28 330 SIS, S0
SVEL BAAS $8 A SHarS R &

BT, SBOD DI SADS 558 T P
06 SmEoerd. T S0 BSOS Bwcses

Bor O30 5;8_ 5. Q HBAKH P u¢ds 2%
TR G D. Q HOAD P DS &)

RS FOEHOD o8 IHS  EHod
h8o%0h.

(1) R60% S

(2) RSO0 T |

(3) T 6% S -

(4 S8 T
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10.

@ ILITandMonly:
['. @ I,:’Handﬂﬁmi}ﬁ'

Consider the following statements : i

I An equilateral triangle in a circle will|

hm&e maximumwmmpﬂmdto

II. [Ifthe hmght ofaneqmlateral tnangle is

wcm,mareamilbeeqmlto
ch_

L T thves sides of & triangle are 612 and
18 cm, then the circumradius of the
triangle is 25 em.

IV. Scalene triangle is a triangle wlﬁ‘; none
of the sides equal to any other &

Which among the above give’.n s’satements are
correct ?

11‘

3) T1, 1II and IV only

(4) All the above

ombers, which on belig divided W f_ =
‘remainder equal to 4 is XXYZA. What is the

va‘:’fm_ of Y+27
® 9

2 2

3 14

4 18

. {?3
m & 800 (HEOSOS HORBOSOS !

a8 S9$os &.:’nar:m Bhzo o8

1. 55020 AN Te) a*méz, € 10 em
10043 9
3 cm’

oowd, oN JTOL0

aoe:oo&.'

m ©2Hzo By Sk Zoren 5, 12

HBA5 13 cm ®ONS, (HHBO TS
 BEPTe RO 25 cm GOLVOS.

- A '&2,55 (82020 (Scalene triangle) &

Heren O w88 o dSrsor
&0Ch.
2038 (BEBSOS' DB HBID?

) L1580k M SmEH

@ LI8Cw IV Sreé

(@) 1L 1 005 IV S

@ DI

58 ZrRotRBIYIW, 48 JISDS o
- AOT @) Hrd 9080 HIFB JOVI®
' m&cm eond Y + 7 DendS Doé ?

(1) - 9

2) 2
3 14

(4) 18
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(Directions for questions 12 - 15)

Read the following instructions carefully and
answer the éﬁesﬁons given below :

Nandu and Mohan decided to sell their Apple 6
Series watches each at ¥ 42,000 to Karthik and
Ganesh respectively. In each case the selling price of
z 42,000was§rﬁw&datbyincreasingthecostprim
by 25%. While Nandu gives a discount of 10% on the
first T 12,000, 8% on the next T 16,000 and 5% on
the rest to the buyer Karthik, Mohan gives a
discount of 8% on the first T 16,000, 7% on the next
¥ 8,000 and 5% on the rest to his buyer Ganesh.
These discounts were however subject to the
condition, that the buyers make ‘the payment on
time, failing which the discount gets reduced by 1%
for every delay of a week.

12. If Nandu and Mohan got all the payments on

time, what is the approximate percentage of
profit of the person getting the higher profit ?

(1 14%
(2)
(3)
(4)

21%.

17%
*

If Karthik defaults to make payment by 1 and
2 weeks in the second and third payments
respectively, what would be the profit of
Nandu on the sale of a watch ?

(1) ¥ 5,480
(2)
(&)
(4)

13.

¥ 5,645

¥ 5,660

T 5,740

- (8)

Al
(12 - 15 (59 @80 dreSasev)

& 1508 rddod ST SO  (8od
B SOBS (¥ ©F DSFETSO R5508 :

SO HBAM BrrS S5 Apple 6 BED FHODH
282883 T 42,000 TS 568 HB% KFDOH
JEWOTOR  AFONOTHET*) K. CPD 25%
DOBUO r5O° T 42,000 @080 6 S0 HOA.
SO IS T 12000 10%, SHHO
T 16000 8% HBAM WADS TR 5%
SH0YD SHFfNTD 855 I DS &S
Ehfencrdy #B08 I0se T 16,000 8%,
S8 T 8,000 7% SHAASD DADS VD 5%
SHoDND ATYD. BONS & SHOHED ABHOH
S8 dotray, Soffenarden dswod 3o
TS0 WOPE, HO T80 seRIAE $HodH
1% S04, j

12. S0 HOAM IS IHOTIE )
Doy SodIQoNS, BHOS I
0 FoHS) S58 ¥y o
I oek ?

14%

(n
(2)
(8)
4

21%

17%

9%

85 D043 BBy Sras TDoped
SOOI 1 HOAW 2 JTe e DO,
TS ©595065° S0cHE SIS €750 o6 ?

(1) ¥ 5,480
«(2)
3
(4)

T 5,645

¥ 5,660
T 5,740




GS/1G/101 _ (9) . &
fhweeks’wh"*“’:‘.’““"bemmﬁ“’f onl aseoRd eond, 5 oo Irrds
Sz i SO €780 oS ?
1) T 5400 G kit :
(2) ¥ 6,200 : s 2 6,900
3) T 6500 i Z 6,500 ']
4) ¥ 6,800
: : e 108 30y BAbaRS Coffenmrd add
15. What would be the difference in the profits of 2% 80 Brre it OSSO

Nandu and Mohan if both the buyers default
40 pach 18y by & ﬁ-;:;.;::.__._ ?
1) =440
(2) T 464
(3) T 488
4) T 520

Madhu purchased a bike in the year 2024 at
the cost of ¥ 78,000. It depremteamvalue,
10% the first year, 9-5% the next year, 9% the
third year and so on, with all the percentages

16.

B IFTSe erared S0 o ?
Ca w0 )

%2 % 464
(3) %488
4y T 520

16 B2 2024 H03S B0 T 78,000 HSS 28
- B8 S T, (DS H0HSHE0 5AS
5 oD Dend SHErFH0s, b
B0SS)50 10%, HEHHE HoDS 80 95%,
RS HoSSB0 9%, BS T edw 68

20U, O R cmgnel Sont R What| 2, @y sood S000E, 20293
- SR Jous R H03 380 TR NS Qo ©@Jod ?
2 ¥ 42,000 = o
[ e
: 4) Y42
17. roof|17. DO |HSFa” ¢ R0BIS RO B
e \garw tl T enosd DS TD Hod P HopssS
P ucag_.‘q’num ro:;_sweets_ veets every G o S _ -
the total number of sweets produced in a day| 2550&9@5 g@oﬁfb. L?S? 6%;“ 833
S G ke and e il BRELWILE . SHDOD BSO OIRO - E i
be the number of days in which the order will | S’ Do FrsSavaieon. sud
ap eted ? éa'ﬁ) 38y o8 I 8&6 I8
Wiy w00 ? |
100q(1 - 1) ari
o 100q(1 - 1)
100qr
(2) = (2) 100qr
_ P
s -
@ o q(100 - p)

q{100 - p)
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‘MG Thes mish e in the family by the

names Ravi, Madhu, Mahes
Praveen. ?raveen:stallerthanlhghu but not
as fat as Raghu. Mahesh is taller than Ravi
but shorter than Madhu. Ravi is fatter than
Raghu but not as fat as Madhu. Praveen is
thinner than Mahesh, who is thinner than
Raghu. If they are arranged in an ascending
order, i.e., fattest to thinnest, who will come m
the middle ?

(1) Praveen
(2) Raghu
(3) Mahesh
(4) Madhu

(Directions ﬁwquestwns 19-21)

On the eve of Bathukamma festival, the association
of Greenfield Apartments had organized games for
children. As a part of that, Keerthi, Joshna, Pallavi,
Rama and Swetha participated in a race. They got

dzﬁ”erentranksfromltoﬁmthermamthe :

fastest and 5 being the slowest).
The following information is a!ao known :

I.  Keerthi is not the person who finished the

I. Pallavi d;dn% get the 5’1' rank, but ahae- :
finished the race after Keerthi.

II. Rama finished the race after Joshna.

IV. The sum of ranks of Keerthi and Swetha was
emxaltotheaumofranksof?&ﬂavimda__
Rama. '

19. Among the five girls that participated in the

race, who wasthelastmﬂnmhtherm?
(1) Swetha
(2) Pallavi
(8) Keerthi
(4) Rama

10)

e

18wl émma)o&‘ 8D, S, SR, cs;m
DS ©F 5 H0d Degen T, (HDS

B30 50T W Gamch S SHw o)

YT B, Sarn 8 o ST are)ch

mmso@ammw 85 88y
50%) YT G TR HD &wz eroYT

S, @éaﬁ TR 0T A SdI®

DO HR S0 EoB HSYT BT .

& Htnon Je mo@ «8n

B008 (e79r &) ey Doy
DS &S ey DS mmaf :»c::.,ges“
D) S ?

M) 1HdS

(2) _Saw

@ Soh

(4) R

(19 - 21 Wgo mam
DL} HOLE B¢

;‘.’ooﬁg @ms

j j'\::.

Por (1 B
5&).503&? ao&)
.’jl :

M}:)é 5;5 o',seﬁ {réjdn
B SwBoD0d.
S'ar) S5 85 B0 Swfodo
§6 oot Fse o-;oma meﬁ@ HOD
200N B 05O VTR, HSFS0.

B P s rdfed D568
B0 SOAODS T dSHD?

O 1)
@) J0d
(3 46
@ B

.

I
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20.

If the sum of the ranks o S
is 8, thenw‘ﬁﬁgatm‘i;

(L

21.

4)

3)

finished the race 'aﬁ.ez_' Pallavi ?

(1) Keerthi

Rama
Swetha
. Cannot be determined

2)
3
@

. Bge OO
_ wwé 4507508 &

_QQ

@ owd

s 191, 2508 O, S0 Soosd B
Among the five girls, who could not have|

5% 78 Bheos?
m 88
S
s
' DFonosto m;’:;o 5%

28. amz,& &S M mém 2.8 B 250800

"S&‘\‘) éanaéa m w&e

%:335 MO 0D aﬁ&,}é@é 2y 3B
(perfect square) o8 Jodsd 8L




8. A 24, 209, SFRodoore, WeE v DR
” SOHD. 2.5 $P6 n Sod 10% DEHYOD
SOy Twch, Sogs O EH0B
o pens. Finally | N0 Dm0’ 20% Shffen Frm, e
Jaya was lﬁfi thh 27{} pens in her aha@, HW ? 058 HOY §x‘§&’)&5 DHOS Dy o 25%
many pens were there initially in her shop ? Soffen Tacw. DG, 20D & 57Ea06S"
270 Dew Dfieron. @D Hewos’

@ 600 . _ IS’ D) DSoyen Garyon ?
2 450 @ e00
3 700 @ 450
{4) 500 3 700
' ‘ t4j1' 500

25. A prehmmary test was mnduetgd &y al ! ‘ .
recrwtmg agency  which conmsted' 128 100 (D% 08 Sr&S (@ OE H6 BI¥re3oh

»)53&),} z::'_ga' «Gé,gbozﬁa}&oa &’w@& &

9 aipts all the questions in it. For every|
correct answer 1 mark is awarded, wi'ule al. :
_ wrong answermpenahzedasfollows '

.3 On&ﬁﬁh ,af the queaﬁons carry O
A = , :. - I. g

mﬂ&é o Lﬂ%;cxﬁa m&%
Srdyen Gotron.
L 38 Sod (dées 5 3@6&5_\
' A’m‘.ﬁag.e» SGOLrOw. :

II.

mm:mzm and minimum pOSSIble Wks:

'scored byMadhmmXandYreuWﬁve}y,e- 8. _
e XY | 503 Srtnes SEOT X H0c ¥ eavd.
T o S RN s iy
e 17-375
n 4
' O 4

(2'} - : @2 8

_{3;__- 2 .: : &

4) 8 D 8

SRR
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. “ﬁ{each er asked, “How many
2.digit numbers exist which have the
thatthewodwtoffamﬁﬁkoﬁmm:m

27. Krishna,

Suresh and Raghava
started a business with the initial in
of T 15000, T 18,000 and €
respectively. After a year, Krishna and Suresh
increased their investments by ¥ 5, 000 and

A 2.8 '_-‘f;;:'sainc.‘n “H0Pse>
sEse 6’5»52, d’é})@‘:‘»‘_.m‘a ©o8e> S3E)
SESOTO méo. 3088 ©fwo &)
2-6903© HOPIED ) &mé‘ G0N &
©ATEH” ©HI oid &) oo
JBIFETS0 daned 7

(1) B56

l (2)

?QODOWeiy,whﬂeRqﬁmmeW; e

2‘5(}00 ﬁftermmo&year Krishna, Suresh

decided that Raghava would receive 20% of

thetotalmﬁt mwm%%m

After 3 years, M@MRﬁdwmem
was ¥ 53,400. memwﬁ'_mwedhy

ATy

63

(3)

4 72

m;% SHO0 TS O = 15,000,

. 00 T 20,000 (2o

' & Trdo @dodomrdy. a8
ao&')égéo" Sorges Sya SHOAD B S
EPLBS SEH™ T 5000 HOGS
T 2,000 RO, Oaed ? 5,000

adv0TB0DBTIS. HT dd Sovsd
g@é 280 O TRDS SEJIF 20%, 25%
HOOD 0% THI S DEPABOD
aa&&:w;ﬁh TS S8 ©83H B Too
308 SDHS Iweo ersSosS 20% S0
A‘nﬁ&n ;m&s a&o el Wm@&

aéanaﬁaéo& 4 éo&é{m S0 565,
syﬁ% u@o&é B0 0 T 53,400. TR0

e m;@n oMS0n

56:63:53

53:63:

&

(2)

59:63:

S

69:63:



~ and water in the ratio 3 : 2 to Bhaskar.
Bhaskar removed 10 litres from this, reg!md

ii mﬁa pure milk and dehveredgz&%a&aﬁhik o

Seiect the correct answer asmg the codes
-. .--:w-___-xonxy
(@ Honly
(® Bothlanam

|-'355L ®

delivered a 20 litre sozuzion' of milk|

(4) NeitherInorll

-argc&aeﬁ‘ &é} 50- 200 wﬁe:) _@@5
() 45
(2) 40

29. 3&:8 3:2 DX)HBS 270,68 m._ >
60k DS EOAS BD) Hoded Tarck.
50 Bo%S 0B 10 dedh %3,
oW @‘f&iﬁ’ 4 3:5,}?._0‘6 ﬂ‘e:éo §@% 8050

WWQ:; JoSEos
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31.

mammmmmmmm.

andthembox.’meyem_mr _hetwm

the red and the black box. If the boxes are|
numbered from 1 to 6 from top to bottom, then |
the difference between the position of the
greenandtheredboxml) What is the value|

of D3/27?
M 4

@ 135
3)

4) 32

32.

Pointing at a box in the pWaph Bhargav

said, ‘“I‘heboymtmgontbeleﬁmthemoff :
of|

the wife of the only son of the gra
my younger brother.” What is the relation

between the boy in the photograph and |

Bhargay ?

(D

Brothers

33.

o

(2)
3)
(4)

NWmduMe
Boﬂ'rmﬁrstmsim

........

Consider the following stateme

1. A Parallelogram hamg aﬂ ﬁwntdes

equal is 2 Rhombus.

II. Al the Rhombuses are Parallelograms,
but the reverse is not true.

IIL
but all Squares are Rhombuses.

Which among the above given statements are
 correct ?

Y
@
(8 landIionly

1 and II only
11 and 111 only

(4) All the above

05 - : T

_

A Rhombus may or Wm%ea Square, |

SB35 eé‘n’oz:':a DR DS§ ao& DY
2B DY HOAD SenR) DO NG
408, DVen D Hod (8068 1 Hod
8 6% B oS08, eHDD) HOAD
_._&é}@ 2V TR0 NP S50 D. SoNs
D¥2 Den o ?

@ 4
@ 135
@ 05

4 82

28 TOTOS0S &d) ©2FHONY SR
TES B W, “DBDSY By

Ceeryon w S0 T 5% N7

S ardy Stosy” FES ey ey ons
0cs» 2,1‘4}55 0858 fooa)oéo .b:)aes ?

1)
® :

Al

oo

4) &Sod
& 808 |HEOSON H6KSotod

L &) 39 DETSOT GO Der0esd

_é«éﬁc&:;ao Tr02R ®:3eh0d.

L &) TOVVED Dr0esd
: ;‘Séadbgzs'm s'b 9&3), HATOBE

oééa‘éx‘.’ng 5D @) BRI
CroRREN.

S DS &IOS DD roBéa’) ?

1 50805 I Sressd
I 805 T S
I 8050 HI Sr(esad

8 9)

@

e

B

4)
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34. ,&Wcalﬁnemmhaamclhnbmq;;poled
height 50 meters to fix the wires. In the first

nexk abs miginte bo aligped dewn by 2 meteen

Further, he repeated the same process till he |

 reached the top of the pole. Then at what
height was he at the 24 minute and how
many times did he have to go upwards to
reach the top of the pole ?

(1) 41 meters, 12
(2) 39 meters, 11
3) 36 meters, 16

Sandeep invested a certain amolzgﬁ%
Reliance Infra Private Limited which offers
compound interest (compounded annually) at
- 5% p.a. and an amount equal to 50% of that
amount was invested in Reliance Jio, which
offers compound interest {compounded
annually) at 10% p.a. The duration of
investment for both the companies was
2 years. If the difference between the amount
received from both the companies is T 6,965,
what is the difference between the sums
invested in the two companies ?
(1) T 7,000
(2) T 8400
3) ¥ 7,900
4) T 6,600

Kalpana’s project report consists of 40 pages,

each of 75 lines with 80 characters in each|

line. The lines are reduced to 70, but the
number of characters is increased to 95 per
line. What is the approximate change in the
number of pages ?

1) -75%
@ -10%
@ -12%
4) -14%

(16)

| C® 36200, 16

&

84, BOD DAoLERE 2 oSS BS S
50 &Y B &Sy JoFoE 5.
s8N0 5 el B e,
- S0°58 dnoS' 2 D s Sosk
ZONAUr. & &S D BB 6% o
ATV, BSTS9B0 Trch. sond @
245 dWA0S o JRNS  @oerdd
D0 S D8 THFITRE wsS
DAY DE 3¢ ?
(1) 41 ed, 12
2 11

42 0O, 18

35. J082 % Fod Ty BoAHS) =P

(R3S ODVES' DePA e, 28
5% pa. SWvSo SGD (Do D8 56
T 50D 5888 ©obN0s HBoLy e
DB0S’ 50%8 HSrSHAS IRy Reliance
Jio' DePns XK, 2B 10% pa.
SD¥S0 B (DosSYTVE B8 o
IPAS) 0BV, Bodk  ZoBerk
DEPRE 339 2 BoSeSyoren, 8 Bod
50N 0B . FodS IEE 0
- S§500 T 6,965 SONS. & Boch S0

=2

3 T 17,900 ;
4) T 6,600

28 H08&° 80 wE o 75 B aayow.
253¢ HoHen o 708 $od, eLcre
Qops 287 H088 958 DoDGH Ik, & folv s
Qg DA HogsS IS &)
DT IO ? .
1) -75% '
@ -10%
@ -12%

4 -14%
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8 days, whﬁeAand (}can
Then how kmg will it take
together to complete the job ?

1) 8—
{1 }egdays

: 1
(2) 7-— days
: 13

o 1=
. mdays;\,__ S

: .'armn@ﬂ %mam %hat all vowe
always written together. How m

of writing the word is possible ?

(1) 1080

(2) 1440
@) 1384 :
(4) 15626

|s7. agmo&oﬁm K0 A, B S0 COD

Qo&&m‘;& A B0k B 50D 2 BV

12 Bred 5 BahS), B HOA® C &8
:&)&) 8 Brod JFobres, A HBAD €
en 16 Hrerd Fabtos. @eroIch DY
50 BoHads @odtr O 5 TR,

0S50 DO ?

7
1) 38— Boen
(1) T ey

\ i
g g o
- {2) e viemn.

ENTRANCE' @3 HS08Q ®J) @dh)en
dHyEr O oD o &FTe
@8 YOG, X8  @ens083 Do
L ..:;;-f;_ SREID, Srgren mﬁméﬁ@m .

? {_}}} 1334
@ 1525

9 19t June, 2024 mn %5@ a Weamday, thm :

what day of week wﬂi it be on 19t November

40.
the North-west direct:on Hg

anti-clockwise. After that ha-"fii;&ms : 45* -
anti-clockwise. He finally turns 90° elockww@ <

W}m}z&nwtlonmhefacmgmw" '
(1) North-west .
TR R

South-east . _

1;32 M 2024 2SS0 s, 19 SSo0,
| 2024 a*éoés B2 eherod ?

6‘ Atverdd. @ééa DSEE 90°
m,;aw‘ BAHED. @S API® 2

B3I e ?
(1) TOS0ss
8y &FS3
@) eMod
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41. I 892 x 415 x 769 x ? = 1565:67631, what |43, 892 x 415 x 7-69 x ? = 1565-67631 WS,
" mnmmthaplaceof’?? ?@mgm&mméo _
n 618 @ 618
@) 49 (2 496
@ 484 (3) 484
4) b5 (4) 55

Pawan appeared for examination in 5 subjects.
The maximum marks are the same for each
subject. His marks in these 5 subjects are in
the proportion 4 : 5 : 6 : 7 : 8 and overall he
scored 60%. In how many subjects dﬁdhﬁ score |
less than 50% of the maximum marks ?

. zz

42, J5S 5 HPPoS’ HOE K HRSArI. |HB

QPP 116 Srddyen 2.8 Do Gotrow.
& 5 IPPOS’ e SrB)en4:5:6:7:8
S s ow DO Indor wss
L 60% B Trh. esH D) IPPoS
ﬁoqg Srdpes’ 50% S0t 88 &6

T BT ?
smicn @ 1 j
: 252 .
3 3 @ 3
(4) 4 4 4
e - U 1e8 k 1D¥ed 88) JOSH-AD m“mmos

It takes Madhu 2t minutes to _mmphfeﬁa |
Form-A which has k questions and 3t minutes
to complete Form-B which has k/2 questions.
If Madhu answers all the questions, how much
moremmedmhetakeonanm%=
answer a Form-B question than he takes to
answer a Form-A question ?

Bt/k

(1)
(2)

4t/k

3

4) t/k

S0EHZ 2t Aren JHeod

. RN BS) FSDH-B 8 Tas o8 3t
Doren HESH08, DN @) (Do
 ASTIWY, osH EH-A  HHS
| BXETS0 ASIO8 BhgT Hkew Sof
TOD-BROAI SIS0 RSIEDE
QDS Al NIV deoho
BD%00erd ?
(1) 2tk
(2) 8t/k
3) 4t/k
4 t/k
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mbntanmmﬁ:eﬁmemmwhi&thedmg
substanubaeonwsmstm&it* If it is

mBDOyem,thma&eramm 200
Adrenaline becomes X. Which of the following
wapoambievaluefortheaumofalldxgﬁam
X? '

n 12

45.

(2) 285
3) 225

4 8156

Find the incorrect term in the given series :
193 140 97 62 35 16 5
@» 6 '

@

@ 140

(4) 193

| ThSo B

28 FoRrsBsS PIIV BTHIL

ErHS TG SHorfo T GTANY
w0 8 Herdo TS o SHeD edbs
BHh S5 ©D 26400, BIBIOS
Dy 800 HOSSYTED
®ONS, 3200 ,oo::e‘s,ao'o Sorged 1200

- (rewe S AIOS X (T0en ©HR0od.
806 88 X &' ©d) ecse RN P

;&5353)5 Dend & ?

S0l HodSHgoS @Sy a8 WHY. 600
0B 799 S8% S Jopiod WO
TRSYH  (Botwr 3§m§3§‘§5), LI TN
8 S Tardyd B 8 &d D Trd.
(L3R 298 8 DoPE D B TS Jwedo
~ORS

e

(1) 180

@ 230

46. & ($00 BI5RAS BSS SHor &)

@08 HBoIOS :

493 140 97 62 85 16 b
1 62

@ o1

@) 140

4) 193
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41 Ganaah . dosinted: 50%. of his saving of|47. #BO S Y T 1,2@5336‘5@%@@'(5;
‘ ?126588&0AyodhyaTmstanﬂhemvemd - @ o ®ETIE é)om" @ﬁ@é
~ the rest of the amount at 10% ‘compound { gﬂfwﬁ .,)5'\%3 S48

interest per annum, separately for his children| s :
&mhm _%&a in such a way that when| MDM&&W&%,} ? ; 9‘:‘60
 they attain the age of 18 years, they would DEPAA DY, 18 tOOMQ.. QOGS
receive the same amount. The age of Krishna Shre, oH WD e 28 V)
is 13 years and that of Veda is 11 years. Then ©ONOErD.  Fy» T SO
the amount invested for Veda must be : 13 DosSyoen MO B SA&v)
(1) ¥ 28204 11 Sodeéyoren. eIy B8 £H0
(2) ¥ 28,640 S0 )™ DEPA E3S Fno :
(3) T 26840 (1) ¥ 28,204
oo
(4) ¥ 28,460 (2) ¥ 28,640
: (3) ¥ 26,840
48. Find the Mean of the following data (correct to| ke
two decimal places) : il
Variables Frequency 48. & 808 B8 0¥ D sKErR) FRSod
15-25 ¢ (Boh &7°0% PT 0K H38050A) ;
25— 35 11 S6ahHand ) D929e380
35 -45 19 15 -25 . 4
45 - 55 14 _ _25-35 B
55 ~ 65 0 i 35 - 45 19
6575 2 4555 14
(1) 3926 55— 65 e
@) 4026 85-75 S £
(3) 4156 _ A (R 3226 1
(4) 4285 : '
49. Find the number of triangles in the follow - 4%’5 '
figure : 9. & 8od Jsos Laz;s.sm .‘éoma)
EORS04 : \
-8 o
@ 32 :
T ) )
e L
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50. mam&zmm&&an E, F and

ofthesmmekc}niyﬁwopmmshavetheu
exam between C and A. B has his exam
immediately before E. C has his exam
immediately before F. Only G has his exam
after A. Which of the following options
represents the correct match of a boy and the
day of his exam ?

(1) A:Thursday

(2) G :Friday

(8) C:Tuesday

(4) B:Monday

51. Consider the following Assertion (A) and

Assertion (AJ ; .

A person with AB*Y® blood gmup is called as
Universal Recipient’. e
Reason (R) :

pmmwxﬂlmmbloodmuphaaA&B‘

antigens and Antiho&;es in Plasma.

Code:

(A) and (R) are correct and (R) is the
correct explanation of (A).

(1)

(Ade(R)aremrrect,but(R)ismthe
cumctexplanatmnof(A}

(2)

(8) (A)istrue, but (R) is false.

(4) Both (A) and (R) are false.

{21)

|

50. A B, C D,E, Fmeeﬁ DHE &Sy
HHS wacmm@ m 25308 T30SV
s T 168 @owod, edrdo
$08 FEOHD o8 m&‘a 3560
 SoHos. € 605 Aﬁs@&'} sy S0
2GS SyHes Sr@d -0 HO8 Soch. B

- SE@ Sno E & H0f Sod. C &5

300 F % 588 ok, A 80758 G ¥

S HBE Goenod. & (808 JoDES

08 ezryon BoE IBS BSD SO

@S HOE T JrdYos ?

1 A:HhSso

@ G:HETEO

@ C:dolgado

4) B.' P00

51. 808 @gbéﬁa (A) HOOED G20 (R) O
HBHBo0dk 801 B R
docvFod :

Gy DE8Ed (A) :

AB*e 28 D &) H580 CrRSss)S
- 50@0(R):

W@é D &) S588 TS A & B

SrosBSey S8y  osrodlarden

€5 :

1) (A) HOCH R) DI HOAW (A)
B8y DB D90 (R).

@) (A) HOO (R) HJSY, 5V (A) TwEy
3B DSBe (R) 5D

3)

(A) D20, ®OVS (R) é;’ag




Gsnefa'aa
52. Chaﬂae&ecorrect suitable figure among the

fnuta!zemsmesA,B C and D given below
thstwau%zd mplete t.heglmﬁgmamamx

A

) B

2 D
@ C

(4)  None of the above figures can cor
the matrix ;

Vande Bharat Express travallmgat 63 kmph 53.

can cross a platform of Visakhapatnam
railway station which is 1995 m long in
21 seconds. How much time would Vande
Bharat Express take to completely cross (from |
the moment they meet) Duronto Express
157 m long and travelling at 54 kmph in the
opposite direction to it ?

(1) 8 seconds

(2) 10 seconds

(3) 12 seconds
{4) 16 seconds

{22)

52. & &S

DRSS a5 Teni
e oireny A, B, C HBak D &
Sresysd 38 ThH 9B wm AT

© QoHE0d.

m,

A B C D

{) B

21 ESS oo, 157 G S

2 D
@ cC ’
@ DA O SregEs 8 Bovsy

63 8.2n/50 Sos Dot S0 grod
MBI 1995 &g BY A
TPILY0 B3 PAS Bﬁ‘mm

S00% SoTerds SR § 35805 oS
fotdy 54 8v/o Fos (HorEDS)
NS08 YD JOT COEDE (%
$ORVS §00 0d) S0TrEd YD
20 QDOVO O ?

(1) 87N

(2) 10 DER

@) 12 R

@ 16 DED
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54. Study the following bar chart and answer the
question that is given below. The

ﬁ;@%ﬁ axamamm from nt

IITs in 2024,
i Num_bwefwuﬁmmnppwﬁdfor

IITs in India

¥

=%?%%?%%

T ﬁ’r"ﬂ’r T nT
KanpurMadeune l&n:pahBonﬂmy

The number of students who the
examination from IIT Kanpur and IIT Pune is
what pementage of the average number of

students ~ who  appeared  for the
exammatzm from IIT Madras, 1T Tirupati
and IIT Bombay respectively ?
(1) 60% and 86% i
(2) o )

—
(4) 62% and 90%

55. Read the below given statements followed by|
conclusions. Choose the conclusion which
logically follows from the given statements :

Statemem

1. All professors are engineers.
II. All engineers are lawyers.
. Semedoctwsmlawyers

Only meluainn 1 fcﬂm 5

Only conclusions II and III foll’wf

(23)
. shows |
'thenumofxwdmtsthatawdﬁwand

B.Tech. exam from different |

&l

& {gﬂﬁ b m‘Q?b oo BV, 8o
aém-‘\') @i),éo QAPPSO 'a.‘.':,goa
2024¢° DS NT® 0B B.Tech. HOEH
J@Q&’: LBy  GPBPBS dershe
- dopsd z_:_r@:ﬁr@éoo&
wmoﬁ' 0 DD NTe 508 B.Tech. HOFK

' 8k a8HBS dorsho Sows

300
70 250

150

e Or ur, ux T
TEFI8 DD FB BHHS 2o
[ SaBs% B 63983
T 55738 SHckH IT 38 Hod HoES'
a8HB8S oo DSomg IT HOW,
IIT 8&H5S 5805 OT 2roZ Sod HoE s

Faps dopdho Sien SopssS Nosd
__ réo?(ééo&@m&‘

@
& (808 D)8 P¥LIOND  HdAW
éc'ga'o:f» SA30B. BAYS  (DE&LS©
A ©H3808 BTIOD

e
| ToSS BDO® o'o‘ix‘é?
éa’g.‘-‘c' c.u :
FHE0BE® aoaaﬁ)&)
II aoa&)éod}é‘r eroH .
III oD @c:&oge.n ey'oi)éa

@Knn}&@‘cm 4
Sompren 11 605 11 Sr(esad
| @HOOT oW
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~ polling station for the general elections 2024

57.

. pﬁingagmapofMamatscomeandtwto

. {.‘?i? Immediately stop the polling and inform

(24)
e that you axe the poling office of a6,

andthepqﬂ;;;gboothmmanamawhere
prevaleneaxshlgh.Dnmngthe day of

disrupt proceedings by terrorizing the voters
awi firing guns. What will you do ?

your higher authorities about the
incident.

(2) Ask the police to resist the Mavists by
getting additional force.

(3) Inform the police force stationed there
and ask them to ensure safety o
important documents and EVMs.

(4) Ask your subordinates and voters to
revolt against the,-_Maoists,ﬁ-

If a circle touching all the n sides of a polygon :
of perimeter 2p has radius r, then the area of
the polygon is :

. @ososS @ b m asocsa
PR0S0B. FOOR T SrSonde

A0 edHos
SOSoIOH sodoraho  $ORTOL

D& FSHBE I en 2024 &' 2.8 FO0K
VIS POl w06 % B
SrSfong @mugo D8, &)

DYOR0 D), &LOBD  FoherosierH
senyen 260

DOHB) 0. B D D TS ?

Cﬁ J0HT FOol O edHID, n)O:nC.)&'J
D8 D aEordHesn B8O
Tahiso.

) FOoDH e6sH  vores
QDB Y& %) &Sy
SrSonRersd @é@ﬁoﬁ&& 3‘6&0

©58 6S) FOD noreH BOH

Tabdo SHdakn W@a’) X:J_m
mﬁm EVMe asm‘m DTBOHS0E

@ w&‘mupo% é;@fﬂéorr ammam»
m &&fﬁmﬂéﬁd@

r FIQ0 fe a8 Sy80 2p EPTOS e
PeTOZHZ Gy o) SYeo n D 88,
OHID & 2HVHE T BTOH0 Jos

am P2
2r 29500 :
@) (p-mr (1) P 2+r n
@ @p-nr 2) (p-nkr
e @ @p-nr
(4) pr
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58. In a rec -:»-':= Hon

Deepakandﬁnupwmpiaymgcard&?:am.
says to Gautham, “If you give me three cards, |
yaumHhﬁveasmmyasAnuphasmdxfI :
give you three cards, ywwﬁ!hmasmmyas
Deepak has” Sam and Gautham tog
have 10 cards more than what Deepak and
Anup together have. If Gautham has two
cards more than what Nagesh has and the
total number of cards be 133, how many cards
does Gautham have ?

 FSSHS mer ©0ert, Wi T S
g@m g0, H 5% oD & dsarsor
50050 I O Srch shen R, D 39

' ‘ﬁz&E é‘ s3rSor sHen @otran.” Ve

$HB05H FSS 2add &U6 sfen 0D
HHE HB0L BSTD a@e &S &) sHen
goh 10 S Gomow. SAD S
AT Sob T3S &S Bock shew

‘. DS wo® Hdco» Iwdo P Jow;

&L 188 wond, FES 565 22y when
(2) 45 &m0 ?

@ 20 ol

@ 25 Sw) 48

The question below consists of a ﬁgum%&. You| & 20

have to find out the alternative figure from P, 4 25

Q, R and S which contains figure A as its
part : '

(1)
{2)

(3)

W o v

(4)

In a certain code language, mls coded uim

Uttar Pradesh, Uttar Pradesh is coded as
Punjab, Mabmwdedas&m Assam 1is
coded as Goa, Goa is coded as Bangalore and
Bangalore is coded as Sikkim. Then in which
state was an AIIMS inaugurated recently by

808 (DHS Do A, & OIS &)
DesSryoh P, @, R Hoos» S J@od’
o’ e,:-fsow &08 Sth §HMS0AB :

F 2. a@g €5 raS, HrBS GSYHTE,
GBS DB D oSBT, HOTBD S yorr,
@0 Fare, Fards Boderdom Hoain
Fohtrdd bfor 8 ST, wond
278 DR 2SO O T1R0S JoNDI

the Prime Minister of India ? (AIIMS) |r80ot S ?
e a Fo
@) Ponjely: s o 6 e @) Hozd

Pihar IR @ H6

@



II. - India’s S&ed Vault is located in a

- (1) TandI only

{26)
Part B (i)

* Svalbard Global Seed Vault is a facility
~on a remote Norwegian Spitsbergen

Island, and it is the world’s largest

secure seed storage vault.

high-altitude mountain pass on the |
Chang La in Ladakh.

III. Indian Seed Vault is a joint venture of
National Bureau of Plant Genetic
Resources and the Defence Institute of
High Altitude Research.

Which among the above statements is/are
incorrect ? :

(2) land I only

62.

IV. Magadi Kere Conservation Reserve

-_{ ) Iand IV only

der the following statements about Seed |61

8B a)
PS) ©od B0
ASS P (D8 >$) HOOD éﬂ 8od
BTN S HBHBoLod
L 8508 B 56 5 serabo
I8  oB5BALS  2YSIBIS

B350 dovyen Tovdo =680d
DO B D00’ B8 S

S8 S DS ‘ocs oL 9.

L. roeBEo B, D& >§ é)c)ésﬁé‘ Q

Toff erd’ I8S DG5S Srgocs, $&
- GO0 _

I [o8aHS HE of oI6 JasS
args eb oS BISE 6FBYD
DAL ADS) BOPLrES @D
Tedard 635  doowsor
N80T,

DI BN DEOSOS DADD SHy?

L () F8an IE Q;Lé&

9 ta - g @ 150605 I S
(4)  None of the above b} e &‘xn_éﬁ)
=58 =

Identify the new sites in India added to the

list of Ramsar sites on the eve of World |62

Wetland Day 2024 :

I.  Karaivetti Bird Sanctuary

H.  Thol Lake Wildlife Sanctuary
ML  Pichvaram Mangrove

V. Bhindawas Wiidljfe Sanctuary

Select the correct answer usmg the codes
g:wen below :

( ) ian&lllonly
iiamiIVoniy

- (4) IandV only

OHoS DBE Too OSSO 2024
SoBsYm TSNS S ZDEsH TS
SBosads 38808 @-oeo&‘n
HBoS0k :

S L $B36 He eoirdno
W FE D60 Segrene esas i

I B850 D&% eodyen
IV. 0N S0 §90 58 625 ¢
V. Domrad SSiarane eairdngo
OHS B s0BS Fhod ﬁ*&’a@rﬁoﬂ) JBS
JSTPTRR), 0HES :
(1) I0805 HI Jr(essdH
{2) 1 A’Dﬁd’m IV r

@ 1008 V M&%
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63. Consider the following statementa abm;j;
‘Women Engineered SA’I‘ellxbe" {wm'r;

I WESATas&eﬁmﬂndmnsamnitambe

Insﬁtm of Technology for Women,

II. WESAT was launched aboard the
PSLV-C58/XPoSAT Mission as one
of the secondary payloads w
1** January, 2024.

IIL. WESATismeanttosggdymm_
refills underground water in rural areas
of India. ;

Which among q;.he gb@% mmmts e

correct ?

(1) Tand1lonly =

(2) Il and ITI only g e

(3) Tand I only

(4) All the above

64. Whmhsmongthe ing is the world's first| __

eountrytopmme ataxfor ag&ultw&l
emmmnnstoachwvetheemagmonméumon:

target by 2050 ?

(1) New Zealand

(2) Mexico

(3) Brazil

(4) Argentina

' ta:n

63. ‘&S 20205 TEBE (WESAD) HB00) &
(808 (HELSOD H8kBotsod:

 EL-

&‘nﬁa‘&ﬁo @3,);5@@ ToHhalS e
680D GHHES0 WESAT.

1 BI36, 2024 Vosd HSBOS
288 PSLV-C58/XPoSAT DoASe’

" WESAT HSrhovados.

I ss8iosd e  (@oed
@ij@éo 20 s e ARIE~ 5 SIS VN T
DoHHoE ®EEHSo  BAHIRE
I (WESAT) 653052808,

2 (DEDSOIS’ DD HVID ?

_[_(1) 00 Il o>

@ I S00% T S

@) 100050 HI Sridsd

_ D> EODS
D508 Fndses Bio D6 ?

T (D) arssorob

@) DET

@ \B8S

4) efodar



x. It is the first India-specific Artificial |

i nce (Al) model which accurately
___estheageofafatnsm
pregmntmmmtheseoondandﬁm-d

II.  Garbhini-GA2 was developed by the|
reaearchars at the Indian Institute of}
Technology, Madras and Translational |

Health Science and Technology Institute
(THSTI), Faridabad.

Which among the above statements_'__ is/are
correct ?

(1) TIenly

(2) Ionly

(3) BothIandIll

%

(4) None of the above

- Identify India's first indigenously developed
CAR-T cell therapy for which Central Drugs
Standard Control Organization (CDSCO)
granted market approval :

(1) NexCAR19

(2) TECARTUS
(3) IND YESCARTA
(4) BREYANZI-BH

vy

65. Garbhini-GA2 MHBOD (§08 (HEBSOSH

DOeBosod :
L 20 Dods B S

(Barhsos Aoy |
9V IVEFS SN

Ao
Agowod I  rE8aH-d03
5B DS AD BrosS.

II.  Garbhini-GA2 QOBANS BSPearses
8D Vol HIOTW HOGH 18
BA3S S RS w08 Vs ok 1S
YergeS  (THSTD,  Hbrer&SD
DO ©DSQ Fwch.

D DESOS’ DA/DD HBSD ?

1) 137D

(2 IS

(3) 10805 I Bodr

@ 23 s

S0l Tag WSrwme dokbose doP
(CDSCO), 53‘?33,&5 s83rd0 &o@é

S8BT, odTncse M

©D3yQ TH2AS CART DS Edﬁm
80304 :

(1) NexCAR19

(2) TECARTUS
(3) IND YESCARTA

(4) BREYANZI-BH
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mlﬁlllydemonstmtedmmmmm

PSLYV-C58 mission :

L It was developed by Bellatrix Aerospace |
Private Limited under the Technology

Development Fund scheme of DRDO.

[I. Green propulsion system is an
innovative technology which is a

non-toxic and auvironmantaﬂy'»ﬁ'iendlj :

propulsion system for low orbit space.

IIl. Green propulsion system is ideal for
space missions with high thrust
requirement.

Which among the above statements are
correct ?

(1) 1andHonly
@ i Misaly &

(3) 1and I only

{4) All the above J

Indian Renewable
Memorandum of Understanding (MOU) for
innovation and research in the renewable
energy sector with :

(1)
“ (D)

(4) IIT Bombay

1. A2 .. DRDO: O

@ 230

m mgy, PSLV-C58 256" 088508
dmabSodorr DBBBAS :::.sa% BS

B0
BIoDSDoS  Hob dPso 8o
BerSS) ATRR (RIS Od
@SB BRob.

n B8 (RS YD 3O 28 ddred)

| rodass, S50y 855 PO (Low orbit

| ppace) & ad@TESTE 8 088
BN HOYIE-ONErO  (FOVS
oML @S (@RS IS G818
eddoos  ©080 | orSoR
SIS0,
D @éeo.wé‘ DD HBSD?

@ 126011 SrsH
@ I8k I SredD
(3) 15805 I Sr&ad

Energy Dewinpmt
Agency Ltd (IREDA) has signed a| i

g0 & 0B SBS TRE esmvd

2,50850 (MOU)R Joso BRoH
(1) 208 :an‘?’o
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69. Consider the following statements :  [6s. 81808 @S S0HB0S0A :
L India retained the 40 position in L 28 ash388 =088y @ 2023
- Global innova&m Index among the top Weso fad asFaS 085S
innovative economies globally as per 2680 S8 g’ Tk .

. G!;abal Innovation Index (GIT) 2023.

o QeNPH08A.
. As gier WIPO Report 2022, India is :
: M 7 pagibing 3 herms o I WIPO J3&S 2022 (9580, (HHoS0E*

‘. .nt Patent Filing activity in the _ BRGE0ES o 3}005 sogerare
world. QS0P 2r8S$TH0 785 oS sod.

O India improved its ranking. to 60"} M. 3536, 8ASH mo@S) (NRI) 2093
P 2000 Tom 0% position. igl LI S A 10l aris s HERG Sotn abirocs
flgg) ;”02‘;‘*;8”9:"‘“ SeaTigee. Indey F0 0B 20238 605 D Io

e o \ & 0750808 DEHHHBEDE0B.

IV. India secured 427¢ position out of the | 3 : X
55 countries in the Global Intellectual V. R0&8)056 B0 @50
Property Index 2024 as per the 12th ROTBE) 125 IANS Wsso fad
edition of International Intellectual ROVBK)SS |G 2088 2024¢5° 55
Property Index. Brod’ ésdio 423 Fod)

Which among the above statements are odod.

instmwot ? D DEOSOS 2D )

D, LA @ 118k v

(2) I, IIandIV
(3) Iland IV only
(4) None of the above

(2) I, I 0805 IV
(3) M HOa IV SresdH
4) I

70. India's indigenous Prototype Fast Breeder|, 5080 S¢ 500 MWe 50850 te 2655

Reactor (PFBR) of 500 MWe capacity at -
Kalapakkam was developed by : D3T3 LD 3D Had 6ar§6 (PFBR)

©DSIP TS 30 DA ?
(1) Bhabha Atomic Research Centre
(BARC) (1 27> eerD§ 86, r006)5 (BARC)
(2) Central Institute of Mining and Fuel @2 oS 2 LS eD DAOK wos
~ Research (CIMFR) 3 s00S 68, (CIMFR)
(3 Indira Gandhi Centre for @) 200" mod oeE HE ey
Research(IGGAR} ; 8638, (IGCAR)

(4) Bharatiya Nabhikiya Vidyut Ni @ ;683 THEH DE D)
Limited (BHAVINI) OBE (BHAVINI) :
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71

Among the followmg. identify the lead
institutions which are in collabemtm with
LIGO Laboratory as a part of LIGO-India

_project.:

I. [Institute for Plasma R&emch (!?ﬁ),
Gandhinagar

H. Kepler-’s Observatory & Research

Centre, Haryana

Il !nter-Umvarsuy Centre for Astronomy} -
and Astmﬁtyazcs (IUCAA), Pune
IV. Raja Ramanna Cenzet for Advanced|

Technology (RRCAT), Indore

V. Indian Institute of Space Science and
Technology, 'I‘h:ruvananthapm

Select the correct answer using the codes
given below : "

e

1, Il and II1

20 I MandV

(8) I,IMandIV

72.

T Ty e
Identify the spacecraft Wyedwby&e ﬁASA
to study the physical changes in ‘God of Chaos’
asteroid whlch wﬂl be nem the Earth’s
orbit by 2029 : '

(1) OSIRIS-APEX

73.

(4)

(2) New Shepard
(3) Voskhod
Pioneer 13

Who ameng the following is the first Indian
woman to get a Ph.D. in a science discipline ?

(1) Kamala Sohonie

(@

f\nan&:bm Joshee s
Maharani Chakravorty

3)
(4)

(31)

. ::s""'i;;,'i::x- e

71. & 806 8¢, LIGO-India =85S e,rﬁoﬁ-
LIGO ergSo®0 § K)Jé&@};é;_ @:mm
J0PO& HBOA

1 al) e b qm 6&63 (IPR),

: rod b
. 396 92965638 ©ob 65) ‘ooeaﬁ
Sose
[l 2o68-cirdss)sd wowd 6

S| TS ©08 oFOVE) (IUCAA),
I8
o o) 200008 5 ewsS)d
~ ®s) 0% (RRCAD), 2086
V. =moAhS asSers e VIV P
@08 50, BAIS0$H00
BNS BDDAS FHOL GHTrA0D B
JSrER), dochsod :
(1) _} 48 ;»0@5&3 I

W4 i

11, I

72, 2029 ¢38 Lo 88550 SIS &) ™8
% oD iS00S aj"’éé SrEd YO

: —

290450080 T NASA s, N
H8os0s :

Ay :-f;.sosmg-ﬁmx _
o) '__vmoa
(4) Pioneer 13

AR RSN

73. & (808 T8 DI DertoeS Ph.D. S08S
Teded 2rBB0% ST DS ?

1) Eder FoUR
"2 esobmondn

@ _
1) Sorodd SESS




GS/16/101

' resoumes fosr i:reatmg colorectal cancer were

(1) Indian Institute of Technology, Mandi
:
(2) Indian Institute of Technology, Bombay

(8) Indian Institute of Technology, Madras

(4)
and Research (IISER), Tirupati

Consider the following statements regarding
Sun Halo :

I. Sun Halo is an optical phenomenon that
occurs due to sunlight refracting in
millions of hexagonal ice crystals
suspended in the atmosphere.

Stn Halo takes the form of a ring with a
radius of agpmxigatglg_ \___2_2 degrees

Sun Halo is specifically produced by
cumulonimbus clouds, which are thin,
detached hair-like clouds.

III.

Which among the above statements is/are
correct ?

e

~ Tand H only
I only
I and III only

2)
(3)

(4) II and III only

Indian Institute of Science Education|

&

|74, e85 s-;é“)& D88y Fdo maag

S3®eO  Hod G, ?J&r&@?ﬁwé ;

(1) 'aoéorncs B L0°5ES es;’j
B er, Hod

2) ROAAMS AN LTS wd
BEY eres, 20 .

@ DOABADHS WYL @D

- S o

4) ROAOHS AV LTS & S)

QBZAS @o& BX6) (ISER),
S8HS

7. S HFS'E 5000HOD & ($06 1HELSOS
H6680S0A e ;

L 3858 oF0 TeSspos’ EDosrd

L DOowd ashe Mo Hdvos”

ardgsos - SfSSSo smor
B0BIOT 2.8 GBS Bah 2050.

L. 38 3S Srdogd ey s 22
Ao oRrgod  60f )
A%0e00H.

I 38 ¥ Hassor W&oam
DIre oo Ge)S Sahadoe
QD AP, I TohadS Bo@mém
erodd Dare.

25 BN HEOIOS’ DA/ HDSD 2
1 58050 11 Sressh
TSRS

(3) I8k HI S essdh
11 508090 T S5 3

@
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76. Consider the following st 176
Coralreeﬁmoﬁ&&&&’

1.

Statement 1 :
 ‘Rainforests of the Sea’.

Smm-ﬁ '

_coastal erosion.

Select tlw wr_recl: answer usmg the codes|

gzmbe!ow
(1) Statement I an& Statement 11 are

correct and Statement II is the correct}

lanation for Statement I

(2) Statement 1 and Statement II are '

correct, but Statement II is not
correct explanation for Statement I

k

(3) Statement I is cormc&, but Statement II
is incorrect ;

(4) Statement I is incorn but

Statement 11 is correct

Consider the following’ smm regardi
30 by 30 mmatifee >

1.

IilL

Goahtlon (HAC)

Which among t.he above stabements are
correct 7

(1) IandIIonly

v
: 3

@ IMandHlonly

@) 1and 1L only
(4)  All the above

Coralmefsbreaktheﬂmofﬁ -
the waves during storms and|
" hurricanes, thus preventing|

"

- 1&8‘&9:51 ::.m;fm;o@ e‘éﬁém DS
TR eDH OV e D,
i {Wﬂ ;DRGSO AP0
L d%a00S eoe 38D HOOw
HFHOH D80 Brow,
: St 500 BG TS DardRod.
B as5aas FEod edTrhod SBS
BT JotHTod -
) DEOS T SO0 B80S T HDSD
005 HEOS 1 8 (@EOS 1T BS
_ Dsse

.....

_ﬁ;sgm I 260 HE&S T HDDSD
3;50&0&» &S 1 8§ (D3&S I w&é
5%

(@) DSOS IDIG, D IS T S
(4) D80S TS5, SRS I1IZHO

7. 30 B %0 SwsH Dowosod & 80O

. @seagmgn 58130508 :

;% 30 B 80 oBO JEE AT o5
SB0SEIE 2030 ¢3S A0 30% S

 BSSTES HIGEINs S8
oo Soraed  AFTOoRTIEDS

e s B0 2.8 [HH0T TS,

0 303 30558 3 aSroDAS FoadAS

mc} 5;35 'a“t:‘)ﬁ ‘woh 2S5 oo

@5,) Ba-é‘ arééc“a‘%o mmﬁa
2 BSOS IO $TIG?
1) 15005 I e
@ 1150805 II mé&

@ w&;
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Khangthenﬂzenga Biosphere Reserve
letu&lkhnwa Biosphere Reserve _
V.  Great Rann of Kutch Biosphere Reserve

Select the correct answer using the codes|
_ given below :

(1)
(2)
(3}

LIland IV
IL, 111 and IV
LIVandV

4) ILIVandV

79.

Which of the following state’s online civie tax
payment software suffered a cyber ;
recently ? i

(1) Madhya Pradesh

. f i
L B

(2) Odisha
(3) Uttar Pradesh
(4) Tamil Nadu

Which of the following programme by the
Department of Science and Technology (DST)
is to encourage and Support senior women
scientists to  comduct research  in
interdisciplinary areas of science and
technology ?

(1) INSPIRE-SHE

(2) GATI

(3) SERB-POWER

(4) WIDUSHI

7. Cﬁnﬁﬁ‘& ﬂJNESCO) &né} 5;-‘5 m'
aréémoes'a ,_g;, ;,0535_ 826 5028
ﬁ@otﬁoa?

L SES odrahs 02355

I 89 28 2880 008 8238
. 9of)S Ao FrR s 828
V. Srr-psis amird)ons 628

V. (08 oS &) £ 23rd)ohs B236¢

OIS 33583 SHoOD GHABrAD $TS
fom-wa; D0DoA :

(1) LI5H80% IV
@ LI 005 IV
LIV 58050 V

@)
@ ILIV 00w v

79 RBIO & (800 D 0RO eSBS 6
) B3Qo%y DI D2b-BE HBos 7

(1) M,g tsInt ]
@ 87 g
i

NV 'ﬂc\)ﬁe}m ;946,3 m& W&&
DoOGODS  BOLBAIRSE Sorod*
D0TBS  TohadE  SH8c» TOR
(&S Y oS8 érﬁ'o&oéa)&o& ?

(1) INSPIRE SHE
(2) GATI

(3) SERB-POWER
(4) WIDUSHI




TR —— —

81.

central Wous system diseases.

. ARTSENS device was developed by the

National Institute of Mental Health and}
| I ARTSENS

 asharS e Dowd TG eoh
: érg&“’@"é’gﬁ) (NIMHANS) @S5y

Neuro-Sciences (NIMHANS).

[I. ARTSENS device is powered by a|

proprietary non-imaging probe and an
. intelligent computing platform.

Which among the above statements ivare|

82.

(8) landII

4) Ilonly

A multimodal Al tool that can respond in 1

Indian languages develope&' ‘indigenously by|
BharatGPT mystem ~and Seetha{

Mahalakshmi Healthcare (SMZJ ig:

{1) Krutrim

' (2) Bhashini

~ (3) OpenHathi

(4) Hanooman

assessﬂlehealthand&gg .&mnemm;
and thswaby provide early screening for |

ARTSENS 90860 80D &
DESOS éﬁﬁ@@iﬁoé
L 30 Smoe a-s&‘ﬁ;cz SHBck ¢
3050 eosT SRS HBAD
Sorsor B0l h 3599 Tehe

005  19200R  ©odod@lS
AXTBPEOT 28 S50, TN-VVIS
HOEBo.

2050 TASS

$05880  |1DDed
S-ah 2ok &5 SHdcs
20BOR0S  Soiyie3oh  FEJCen
o 5o sa‘ééo-ﬁoﬁ)a&o&.

2 gemoes‘ BATa AR dé,) ?

>OS _' (BharatGPT) $559 805w de
D50 EB BML) orgor Bacvorr
©D30 Tohwsd 11 rSach rhed
HBB 08038 HOIrES Al ST
H8oobh ?

(1) Krutrim

(2)

 ® Opentath




GS/1G/101

B&gg\y NITI Aayog’s ‘Methanol Economy’ programme
~ isaimed at :
L Reducing India’s oil import bill.

(GHG)

. i;ji Converting coal reserves and municipal

solid waste into methanol.

Select the correct answer using the codes

- given below :
(1) IandIlonly

~ (2) IlandIII only
(3} 1and I only
4) I,1Iand Il

84. Which among the following acts as a nadal ;
agency for sourcing of the Aarogya Maitri
Cubes developed indigenously under Project|

BHISHM ?
HLL Lifecare Limited
Indian Drugs and Pharmaceuticals
Limited

Emergent Medi-Tech India Pyt Limited
Biosurge Healthcare India Pvt Limited

(2)

3)
4)

85.- Which of the following statement is correct

regarding ‘Impatiens Karuppusamw seen in |®

the news recently ?

(1)
National Institute of Oceanogaphy
(NIO) in Thamirabarani river of Tamil
Nadu.

Anewspecxesanoofﬁmgusgmwn on
plant species discovered by the

Botanical Survey of India (BSD in
Sathyamangalam Tiger Reserve.

A new species of Bamboo-dwelling bat
dzseovemd by Zoologu:n! Survay of India

2

@)

{36)

A new aquatic flora discovered by the|

A new species of plant discovered
researchers of Botanical Survey of Indi
(BSI) in Kalakad Mundanthurai Ti
Reserve.

4

83. B oI T WHTS ISy
' SOHSDN0 By ©F 5 HB0B0A :

L 28884 St HHHa Deno
oo,
BT s
Sfocscso.
AP Jogen HOH SIS HS
_ ST O WP S S8 )50.

AN RIS ES FhOD &HTrA0D HJS
. RrTRR) SoEod
() 1080 T SMe$H

@ I 805 I Sresh

(@) 155005 I Sressh

| (4) I, I SH80%» I

@28 BHISHM 805 oS3cHorm PEPANRYA
B et DS EriSed DDETS Y50
800 & 800 o8S° & Sad BAyT

DATROS 2
l (1) HLL g 238 OB
(2)  0BADS B5A) ©08 FoRTIES)

DBH

2P0 DABE osakr IS
OBG

aﬁﬁ)‘fbﬁ 1.;3‘@?5 RoA0%r Lm
OBHE

85. ‘YOWAN) Py adse  >eS
35008, & 806 S ode
JOBOBODS GBS (H¥ES DO 2

1) ST HS"D =620 6’
BASS  adarssS e M@
(NIO) 30/ T 2o mm
dsH0figo WG 6absS FerdsS
983 ©D modar (BSD orgov
EASDAS S8 FhoD DO
WUD DO BwE), Teh 2,
DOHZ 6 0absS’ arerass
dBs ©D 8Nr @SD 5o
EOFSDAS T8 208 IS DD
tidae0.
088 Swodohdalr BB 626
TerAES 05 &9 =0bdar BSD |
S68B%en EDFS) TS 278 o),

1L (GHG) &Froreodh

II1.

3)

4)

'-'.'._ (2)

(3)
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is a collaboration between .;50162.)36 20 (V20) D, @s 6
Vulnemb%s Twenty (V20) group, the| . 3§ (@7 O &S Bro
Group € Sewen  (GD) and other| sorstod cop21S (80dotsndod.
' B 4 dode Werad) 84908,
Admeos S8  BSSTO
 Fda0d Hoaw DS eod
M& 8 DTN ®08
BEPYOSHCDRFD) & 50° SRS
: eD3)0 A ﬁmm 8800
iware|  $D3%00.
- gmeaxmé‘ QOIDD S ?

N, The

Climate and Disaster Bmk Fmance and
Insurance (CDRFD. -

Which among the a;bw& ste e
incorreet ?

3

87‘

Mission Blue ‘?

(1) Lakshadweep

Diyara Zszand _

2) Andaman and Nicobar Ia%ands and| (9 _soéér& :'os‘arts ée‘gen S8

_ | iw| (@) 9063533‘-5 D6 &m 8a%o
 Sohrg 550

E.n”‘é*;ag,ég:'a B HOOH mam
DB By
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. 11."';:--*me CMBICOP14 was citissned under

the planet and we welcome them home”.

. IOL CMS COPl4 was the first glabal

 biodiversity gathering since the adog!:ion
- of the Global Blo&werszty rames
(GBF)-2022.

Which among the above statements. aro

correct ?
1) Iandll

{2) Iandlll

(3) IlandII
(4) All the above

Consider the following statements regaxdixxgé o

GSAT-N2
I It is the first demand driven sai;eilzﬁe

mission that is fully fumied and owned

L

Wm'mznﬂqumofms

111 *;i’he collaboration of NSIL with ﬁpaeex
wasmadednemthecumntﬁm:ﬁhon
of India’s rockets, which are lacking in
the capacity to lift large communication
 satellites.

cnrreet ?
1) IandIl
(2) Handl

’Wlm:h among the abcve given statements are

(8) landII

(4 LHandIll

R
mumns ga. S80S oD

1 tms comq, &ingg. 145 DAS 22024

5% a0 e 36
®AS) (CMS COP14) 2 o Hsrdws
:éozaoéo& & 200 L SEhsen

DRSS 12 Hod 17 S6% aBEFS
S 5 BL0ES’ 26806,

- | I cMS cOPl4 “iASS 3% 558
, thel slogan “Migratory species connect i “@L §§§

IS 008 D S0y Bo S’ @
AT B0 JDSrSI3D0d.

1L CMS COPI4, B'ad 2@3r@s50)8 DS
o 90 (GBF)-20228 es3r000S So°se

L 2088 Bnse l;;:bo::’: BIBDSS
- ar3do.
g@sm@es‘ D BB ?

GSAT-N28 cooa)oéoi) zéa L&)& L,amm»
2B0iedoSod -
L 28 &5 n)_}r\) aoﬁoﬁr é):nam
_ (NSILIE Gofy 38 ke 005
mm&; *505e0 EORS

.aoar&vgén ;
@arnaéoe‘s‘ 28 .ndrsé Je
§mﬂm5

aaL_ﬁuJ‘e.x&) ém@? FPso &Sy
o838 BSowd NSIL & (&Ko

50  SpaceX gy  ddFso
B0,
23 30 HILSOS DD HBSDT?
(1) 18w I
(2) 11 5805 I
3)  158c% Il







2) Frm :

{3) Australia

{4) Switzar];md

- Co ler the following statements
f-‘@peranon Aspides’ which was recenﬁy_ 0@
the news : .

&

It is a defensive

il

19*]3 Fehmary 2024

HOHEBoDS LX)oaoéoeS‘&) me& a?a‘éo .‘;}a}?' .

J&T 08y

(@)

@ e9datr
@  RseTos

- aEy  adse o6
5&‘1:)0:‘.')@@ 88 Ho2odod & (8od
M@‘ @;@&') RT-LANTIRN WM@&'

av:}mc& @m@@@m rm '

corract ?

(1) Tonly

L DBsLSOE DB/ HDSD?

T Iaresd

® Toed

4) 23D s




st

S

IiL.

Which among the above state

The DOSTI drill was started in 1991 as
a bilateral exercise by the eeast gxmrds
of India and Sri Lanka.

1CGS Ai}hmav pa:tmpmdm t@e
Exercise DﬁS’I‘i 16.

correct ? .
(1) IandIl @ Iand
(3) TandIII @ I

LRl 5
'ﬁmog 63»§3, g‘ﬂé n'§ =3 @,sz?rﬁé
g-gcmé}mr Lsa'dof,)oézoéo&

B BE 688 JE INF HBAW
_ S DOSTI-16 a'gam;a:o &

S’ DD SBPID ?
3¢ @) 1 Sdos» M1
| (@) I, 11 80 I

©omISH 95&,5553
&boﬁéo 50 &-ﬁ'oéo&é




gender etiuahty amang gu:is and boys. | ey 3@3@{'36 W &‘1&'1? &3@ §‘§3§.. -

"I CRIIO 4 GOOD was launched by| 4 @S)PoSmds €8 «S85, 85
~ International Cricket Council, UNICEF | ) 66105 Wséﬂcﬁa $O00.

: L&D‘éo@oxﬁaao&

2 [DEOSS’ DE/RDD ?
(2) 1 only e {n@i&am I 6'&)
) TandIII ] @ mAneD
(4)  None of the above " & IS0k 11
, 4 PVIIFTD
96. Which among the following country’s Prime

96. es{ @@0535 Z"""s-ow

Mmsﬁer hecame the ﬁrst Psc:ﬁe leader to

A’ : s to Sﬁu&y:
ﬁmﬂﬂy air qtfsl%ﬁ--%d sﬂ‘ects

launched &board a SpaceX Falcon-8) . 1, PACE ﬁmgﬁao 8 :)La)::c 202436
_ WUBS February, 2024. 1. SPBCEX FOre9 oBES oo
Wimh among the above statements is/are Jdadhdosor (HABrAosndod.
mqo;:rmt? -
{1)“. 0 ' “2):6 @:‘3,)& @'}ﬁ&}&’)&)é‘ DQ@‘D Jé_)"
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98. Consider the foilwing statements :

L The 1® edxtmn of the Indian Naval| X mo&cﬁ).ﬁ AT é;ﬁyoé&g 5988
Commanders’ Chn&mm:e o‘f 2023 : __m aié Ma{s 5&7‘63 5, 20248
wmnmneed on Mm'eh 5"‘" 2024. 0

L:réoé?._oo&

II. The Government of Infﬁa lal-lanh!?d L § LS S0 5% oi‘élg 5560
ADITI scheme to promote mnovatz@ in i roiBES & DD BHOD
critical and strategic defence technology. s e . |

BT s o n e L o L B PO TAVE (e

III. Exercise Samudra Laks:a.mana is a joint | G - ADITI 3GsR) @rSodood.

naval exercise between the Indian Navy|

and Reyal Mal&m Navy.

. Which among the above statements are
il 9 i i

() TandT

(2) HMandIll

(3) IandIII

4) I MandII ——

(2)

(3)

(4)

Cochin Shipyar&iﬁﬁnm

| B So0am 11

' :’aé»gé ofe Joirdo  oe
Feosto HBck ToHS HBLOW
Seddgo By SoomE IedE

DD DI ?

@ 11 560 I

m @Wéﬁf@-dq{)om 2r8eT3%0
| Glosy TogEnee H558 IS Iriohd
26 DB IS B0 ?

SroRNS DHATG OB
oS oE D DB ONBE
ool 8 @08 F§ Boudb) OWBL

ey
@

()

@ FOYS ABr OWBs
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2% Conmdar*ﬁ&liem statements :
 Statement I :

Kamatakaandnamedxtas

‘Sphaerotheca Varshaabhu'.

Statement I ;

of monsoon season.

Select the correct answer using the eodes

given below :

(1)
correct and Statement II iz the correct
explanation for Statement I.

(2)

@

correct explanation for Statement L

_Stswlismemmm

II is correct.

101. The initiative Mission Inveaﬁgation@'ﬁ days, iﬂl
wlneh mandntee mvesngahon oﬁcer W

Sphaerotheca Varshaabhu get|

its name from its behaviour of |
changing colours from brown|
to pale brown in the beginning

Statement 1 and Statement II are|

Statement 1 and Statement I are|
correct, but Statement II is m ‘the!

Statement I is mrmeh'hxt-’%tamnt g

.
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Government ? o sor Lﬁ‘éoi)mﬁanéoé ?
(1) Gujarat (1 Haoé
(2 Odisha @ 8%
(8) Bihar 3 D56
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Group Captain Ajit Knshmn. -
Group Captain Angad Pratap

given below :
(1) LI, IIandV
2 LIIIVandV
(8) 1,11, 1IandIV
4 LILIVandV

. 2r8S88¥0 B O S B ©0S0E
OIS O30 w086508% IFocss 1808
388 25t SomSnent JoDEAT ?
L Dof ¥5rotd derod D
- IL S _s-”i;«G . aro§,)§5 000

_ W_ Lﬁr:‘) SRS 0BS 5,)%}.5
V. D 5RS ®ofb e
BHS 2S5585 Fhod GHBrAoD B
PRR) othHsod :
1, T, T 58050 V
LI IV 580 V
L I, 1T sH0 050 IV
Ln W A‘n@cﬁ» v

103. Which among the following is the first ¢
in the world to launch the Malaria vaccine for
children into its  routine mﬁmai
immunization services ? '
(1) Botswana

(2) Cape Verde

{3) Cameroon

@ Desaocratc Repbiic & the Con
104. Consider the following statements a

Pradhan Mantri Matsya Kisan Samridhi|

Sah-Yojana (PM-MKSSY) :

I It is a Central Sector Sub-scheme
the Pradhan Mantri Matsya

for formalization of the fisheries sector |
and supporting fisheries micro and|

small enterprises.

I It will be mp},emented with an:' °
investment of over ¥ 6,000 crores over a|

pmodofmxt«!yearsmﬂmzs -~ 24
to FY 2026 — 27 in all States and Union

Territories.
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ch country recently declared National
duetooﬁ’shom oil spill ?

(3) Northern Mariana Islands
(4) Trinidad and Tobago

106. 'Who among the following eminent
personalities are recipients of 58 Jnanpith
Award ?

I.  Sampooran Singh Kalra

II. Jagadguru Rambhadracharyaji

III. Damodar Mauzo

Select the correct answer using the codes

given below :

(1) IandIIonly
(2) II and I only
i3) IHonly

(4) Iand IN only

107. Consider the following statements reg
International Big Cat Alliance (IBCA) :

1. The International Big Cat Alliance is a
multi-country, multi-agency coalition of
96 big cat range countries, non-range
countries  interested in big cat
conservation, conservation partners and

scientific organizations working the field|

ofh;geetemwammon

The Union Cabinet approved the
establishment of International Big Cat
Alliance headquarters in India with a
- one-time budgetary support of T 150
crores for a period of 2 years from
2023 — 24 to 2024 - 2025.

Which among t.he above statements is/are
- correct ?

(1) Ionly
@ N only
(3 BothlandIl
(4) None of the above
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108. Identify the incorrect pair regarding person

110. ‘Mukhyamantri  Vishwakarma

and their field of activity who were conferred

with the Sangeet Natak Akademi Awards|

2023 :
(65
(2)
@)
{4)

LV Gangadhara Sastry — Music
Jagdish Gangani — Dance
Parikshit Mahato - Tribal Dance | '

launched in a SpaceX rocket was built by :

Helen o ™ToIk and Tradiional Music

109. India’s first spy satellite that is set to be

Fodorad Hohiso
109. )P X o8 o L;’a&irrrﬁ)g DESTSS)

(1)  Bellatrix Aerospace Private Limited OSEED IeRncsed Mm EHHF),
(2) Skyroot Aerospace Private Limited Jédo Ad 0T ? .
(3) Dhruva Space Private Limited <1) | BeESE) 2B DR (RIS D5
: e o m&'dﬁ DEDHIN (IS Overd
4) TataAd -- Limited
{ 4 Tata vaneaﬁgystems mi | . =38 DN

Yojana’, a special scheme ide

workers, street vméa
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sale of cotton candy due to the presence
Mmumngsgmtm&’

(1) Aristolochic acids
Bew&m

(3} I&Butadnm

r

(4) Rhodamine-B

2

112. Which of the following countries recently
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(1)  Liberia ) Bboorr |
(2) Romania 2 THIo
(3) Israel 3 BSDS
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_Kamtnkamthempperﬁnmmgmwm
~ SEEI 2023 with an overall score of 865
out of 100,

Assam and Uttar Pradesh are in the
‘Achiever’ category in SEEI 2023.

Andhra Pradesh is in the ‘Front runner’
category in SEEI 2023.

Which among the above statements are
correct ?

(1) TIandIl
(2) IIandIlI
(3) IandIII

(4) 1,11 and III ]

114.

‘Sangam : Digital Twin’, recently seen in the

news, is an initiative of wlnch Department of

India ?
(1) Department of Telecommunications

estern Naval énmm T |

115.

@)
@)

East,ern Naval Command
Department of Science and Technology

Consider the following statements :

; 7 lndxanNnvalshlpsCheetab,Gnldarmd.__ ;

guided  missile yer  was
commissioned into the Indian Navy at
an immersion ceremony held at the
Naval Dockyard, Mumbai on December
26, 2023.

Whmh among the above statements isfare
correct ? .

(1) Ionly

(2) Ilonly )

BothIand II
None of the abhove

(3
4)

INS Imphal, a Project 15B stealth|
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(4) Gujarat s
Crise - @) . SHETH
117. In which of the following places were new @) H=os

medical colleges inaugurated by the Chief
Minister of Andhra Pradesh in September
2023 ?

L Elury

II. Vizianagaram

TII. Pulivendula

IV. Machilipatnam

V. Adoni

Select the correct answer using thae Ws
given below :

(1) I IIandIII
(2) IILIHIandV

| ) I,Ilm;andfv “]
e

118. What is India’s rank in Logistics Performance
Index out of 139 countries, as per the World
Bank’s Logistics Performance Index (LPD)

Report 2023 ?
(1) 4 _ (2) 24
I @) o8 I 4) 47

119, Identify the company that launched ‘Pratham’

which is the world’s first no-code eomputar 119, i

vision platform :
e
o icrosoft Inc !
. (8) - Goog]
(@ Dell Technologies
120. Which among the following Space agencies

has launched its next generation H3 rocket
into orbit ?

(1) Canadian Space Agency (CSA)

(2) Iranian Space Agency

(38) Israel Space Agency (ISA)

(4) Japan Aerospace Exploration
(JAXA)

g
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& 808 D pord §& [ FTOD
@E0DoTEd ?

L oerd

I dsADSHS0

. HO3oHe

V. 0d®Y0

V. @8

A0S BSHAS Fhod adTrHod JPS

L BSrER), dothEod :

LTI 008w II
11, HI 8050 V
I I

@)
(3)

2

118. L.a::o::& arsofy T oAV HAE
SO (LPD AS6E 2023 |H5°50 139 Brod'
A8 SRS HrdES’ rostio s
0508 D0s?

(2) 24
(4} 47

(1)

30 Wﬁ: (no-Gods oomputer vision
m) @o:nas ‘Lz)qf:.ﬁa’&) EogelerAlolnly]

3) Google
(4)  Dell Technologies

120. & 1808 TBS D ®osdE doPen S
S50 SSo H3 OSSH  §55S5%8
DS DGod ?
(1) mcagn: DB (CSA)
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